	Bryant has 2 quarters, 3 dimes, 4 nickels, and 4 pennies.  How much money does he have?
Write the answer in the box.







	Which represents 793 correctly?
Select three answer choices.

	7 hundreds + 3 tens + 9 ones
	

	7 hundreds + 9 tens + 3 ones
	

	700 + 30 + 9
	

	700 + 90 + 3
	

	Seven hundred thirty-nine
	

	Seven hundred ninety-three
	



	Determine the correct sum or difference for each equation.  Select the correct box.

	
	257
	844
	531

	728 – 197 = ?
	
	
	

	88 + 169 = ?
	
	
	

	250 + 281 = ?
	
	
	

	563 + 281 =?
	
	
	

	489- 232 = ?
	
	
	





	Use >, <, and = to complete each comparison.  Select the correct box.

	
	<
	=
	>

	456        572
	
	
	

	632        632
	
	
	

	564        546
	
	
	



	Determine how many hundreds, tens, and ones are in 402.  Select the correct box.

	
	4
	0
	2

	Ones
	
	
	

	Tens
	
	
	

	Hundreds
	
	
	



	There are two boxes of clothes in the garage.  One box has 237 items.  There is a total of 358 items.  Which equation can be used to find the number of items in the other box.

A.  237 - ? = 358
B.  237 + ? = 358
C.  237 – 358 = ?
D.  237 + 358 = ?


	Which set of numbers shows skip-counting by 100?

A.  300, 350, 400, 450
B.  515, 525, 540, 555
C.  217, 317, 417, 517
D.  100, 200, 400, 600

	How many weeks are in a year?

A.  51 weeks
B.  54 weeks
C.  52 weeks
D.  53 weeks
	How many hundreds are in 387?

A.  80 tens
B.  7 hundreds
C.  30 tens
D.  30 hundreds



